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QUESTION 1

A higher level of resiliency has been requested for an existing vSAN Stretched Cluster. A key requirement will be the
addition of a third site to protect against a potential double site failure of the two mirrored sites in the stretched cluster.
What solution would meet the resiliency requirement? 

A. Replicate to the third site at the VM level using vSphere Replication. 

B. Configure vSAN Stretched Cluster with FTT=2 to replicate to the third site. 

C. Add the third site to the existing vSAN Stretched Cluster. 

D. Replicate to the third site at the vSAN datastore level using Site Recovery Manager. 

Correct Answer: C 

 

QUESTION 2

Which two are requirements for Kubernetes cluster virtual machines when leveraging vSphere Cloud Native Storage
(CNS)? (Choose two.) 

A. configure UEFI firmware 

B. Set the Disk Mode to Independent 

C. set the disk.EnableUUID advanced setting to TRUE 

D. virtual machine hardware version 15 or higher 

E. minimum of 4 vCPUs per node 

Correct Answer: CD 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/Cloud-Native-Storage/GUID-BA795112-AFC4-4FCB-
B5A6-1ACDCAB79ED3.html 

 

QUESTION 3

When designing a vSAN Cluster, which three should be considered when sizing a vSAN datastore? (Choose three.) 

A. Storage Policy or Policies to be used 

B. capacity device queue depth 

C. vSAN Slack Space 

D. cache disks with 10% of the Disk Group 

E. On-Disk Format overheard 

F. endurance level of capacity disk used 
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Correct Answer: ABC 

Reference: https://core.vmware.com/resource/vmware-vsan-design-guide 

 

QUESTION 4

An All-Flash vSAN cluster has 4 nodes with this disk group composition on each host: 

1 × 800 GB SAS SSD 

6 × 3.84 TB SATA SSD 

An administrator observes that in an All-Flash cluster, the Write Buffer Free Percentage is consistently low. As a result,
there is increased latency experienced by the workloads. 

Which remediation steps will resolve this issue? 

A. Add a second disk group with a new cache device and distribute the capacity disks equally. 

B. Add a second cache device to the same disk group to increase the caching size. 

C. Modify advanced vSAN configuration parameters to utilize the complete 800 GB for caching. 

D. Replace the existing cache device with a larger cache device. 

Correct Answer: C 

 

 

QUESTION 5

A storage administrator is consolidating 2 data centers running on an HCI platform. There is a single site deployment of
VMs running on the HCI platform with vSAN encryption. The administrator would like to protect data using replication
and has these tools available: 

vSphere replication VM encryption VMware vSAN 

Considering the scenario, which statement is correct? 

A. Encrypted VM disks are not supported with VMware vSAN, only encrypted vSAN datastore. 

B. If a source VM has encrypted disks, the VM storage policy must be encrypted. 

C. If source VMs have encrypted disks, the target storage policy cannot include a VM encryption rule. 

D. If VMs have encrypted disks, the VM storage policy has a choice of encrypted or not encrypted. 

Correct Answer: A 
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